
7 -      = 4
8 -      = 5
7 -      = 5
9 -      = 5

 9 -      = 6
7 -      = 3
8 -      = 6
6 -      = 4
6 -      = 2

ptički - neznani člen do 10 



12 -     = 8

11 -     = 7
12 -     = 7
13 -     = 8
13 -     = 9 14 -     = 9

12 -     = 9
11 -     = 6
13 -     = 7

ptički - neznani člen do 20 



 1/2 polžek =
1/2 gosenica =

1/4 uška =
1/4 gosenica =
1/4 miška=
1/4 polžek=

1/3 uška =
1/3 gosenica =

1/3 polžek=

škodljivci v vrtu (ali kapljice 
medu)  

- številski prikaz delov celote

1/4 uška =
1/2 gosenica =

1/4 miška=

1/3 uška =
1/2 gosenica =

1/6 polžek=


